(THHET# 4

KRRIE, PR UT2HMITH—LTET

4 EHT

KITDTET HIESIFEAZL TS,
XAEMIERRELAL TS,

HETH | ERFR BIE R4 110 1/11{1/12| 1/13 1/16 | 1/17|1/18 [ 1/19| 1/20 1/23|1/241/25(1/26|1/27 1/30 1
+t4ERT{%15 | PA—1000 (#RM51m 0.04 | 0.04 | 0.03 | 0.04 0.04 | 0.03 | 0.04 | 0.04 | 0.04 0.04 | 0.04 |0.03 | 0.03 | 0.04 0.04 0.04
R M 50.5m 0.04 | 0.04 | 0.04 | 0.04 0.04 | 0.04 [ 0.04 | 0.04 | 0.04 0.04 | 0.04 | 0.04 | 0.04 | 0.04 0.04 0.04

IREINER | PA—1000 [tHhEMNSTm 0.04 0.04 0.04 0.04
HhFR A 50.5m 0.04 0.04 0.04 0.04

WaiR/NVER: | PA—1000 [HhERASTm 0.04 0.04 0.04 0.04
R MS50.5m 0.04 0.04 0.04 0.04

BRINER | PA—1000 [thEMNSTm 0.04 0.05 0.04 0.04
T A 50.5m 0.05 0.05 0.05 0.05

t4iEREE | PA—1000 [#hERASTm 0.04 0.04 0.04 0.04
IR MS50.5m 0.04 0.04 0.04 0.04

FERZR | PA—1000 [#1RANDTm 0.04 0.04 0.04 0.04
T A 50.5m 0.04 0.04 0.05 0.04

MAHHE |PA—1000 [HEMNSImM 0.05 0.04 0.04 0.04

4 iEHT

HhFRH50.5m 0.05 0.04 0.05 0.05

WriEg#E [PA—1000 (#hERASTmM 0.05 0.05 0.05 0.05
Hh T A 50.5m 0.06 0.05 0.05 0.05

=ILLFHE |PA—1000 [HERASTmM 0.05 0.05 0.05 0.05
HhFRH50.5m 0.05 0.05 0.05 0.05

HREHHE |PA—1000 [HEADImM 0.05 0.05 0.05 0.05
Hh T A 50.5m 0.06 0.06 0.06 0.06

EILREERR | PA—1000 [#ERADTm 0.03 0.03 0.03 0.03
HhFRH50.5m 0.04 0.04 0.03 0.04

FE2MHHE | PA—1000 |HEADTm 0.06 0.06 0.06 0.06
Hh A 50.5m 0.06 0.06 0.06 0.06

ff;;f% PA—1000 [#iERM51m 0.05 0.04 0.04 0.04
R A 50.5m 0.05 0.05 0.05 0.05




